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- 2,731,759
2IFU(BEHS#HF ) 1,296,475 1,059,855 236,620
A2GH(BEAH#E ) 1,086,238 852,789 233,449
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—dRME=Z 228,825,660 *3% 6,865
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—Jl=s 2,485,000& x1H+12& 29,820
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— Al2tel g 8,887& x5 «40A| 2tx 12 21,329
— ZHZ A 140,000& x5H 123 8,400
— GotE 4|
2,119,000 *84%*86%+*1/30*1/7+70Al 2t *5H 2,552
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SN BAVE D
M H¥M2AAH (2EAHAE D)
S J2ZH(BEHS ™D (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 3524l 165,182 141,882 23,300
Os32=2 2 MAl 139,762
— Mol ER3 1,200,000& x12& 14,400
- &3 8,000,000& =12& 96,000
—SAIIAR S 1,100,000& x12& 13,200
—&d==2 Ml 500,000& = 12& 6,000
— Z A& H =X 2l bl 300,000& x12& 3,600
—nNERYIHS 1,750,000& 1,750
—JIEt 3322 % HA 300,000& 300
— B2AAGH HE RERZ 4,512
ALILERZ 390& *4000 = 12& 1,872
SIRER= 2,200 10000 x12& 2,640
O Xt &k Bty 19,000
— AE"SI2 Xt 2,500,000& *2CH 5,000
— A SEX 2,000,000& = 1CH 2,000
— A= 9,000,000& = 1CH 9,000
—&IIESH 1,500, 000& *2CH 3,000
OA & &Hl S XYl 6,420
— 201 HHIAIAE X2 385,000& x12& 4,620
== Sl 150,000& *12& 1,800
202 04| 11,280 12,960 A 1,680
01 2LH0HI 11,280 12,960 A 1,680
OJI2gd2s8d=80Y| 11,280
— Bt 40,0002 x18H = 12& 8,640
— J|EtH 60,0002 *1H x12& 720
- 323 40,000 *4H x12& 1,920
203 R =&Y| 9,659 8,992 667
01 J|22I P RF=XY| 3,705 3,135 570
oOBAHAAE 3,900,000& *95% 3,705
02 d R R =AY 1,280 1,240 40
OFAINNMZ 40,000& *32H 1,280
04 BN2HARETY| 4,674 4,617 57
ORM2HAREAY| 410,0002 * 122 x95% 4,674
FOIE2HOE AMHIA X2 1,841,295 1,533,275 308,020
= 269,728
Al 136,283
- 1,435,284
ZeteloF ofg &2 541,084 549,512 N 8,428
= 29,700
Al 24,850
- 486,534
areteloF ALY 59,400 59,400 0
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—tll— >
HM: FO2AC2 HUIA KB
o

CHel: 2eteloF oler 2el (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 29,700
Al 14,850
- 14,850
101 124 H] 17,139 18,000 A 861
= 8,570
Al 4,284
- 4,285
04 JI2ZtHIZ22NEE S 17,139 18,000 N 861
Oogeeda 20 17,139
— oAy 2,856,400 x1H 6 17,139
= 8,570
Al 4,284
- 4,285
201 LBt 10,613 10,613 0
= 5,306
Al 2,653
- 2,654
01 AP 22| H| 10,613 10,613 0
ogelelor(ZEg)ogaelAmgy g2 2 29
H S 10,613,000 10,613
= 5,306
Al 2,653
- 2,654
206 M = H| 11,498 13,087 A 1,589
= 5,749
Al 2,875
- 2,874
01 X2 H| 11,498 13,087 A 1,589
OYelotE 9 wol oYy 28 729 S
11,498,000 11,498
= 5,749
Al 2,875
- 2,874
307 2izto| A 1,000 0 1,000
= 500
Al 250
- 250
01 s =t 1,000 0 1,000
Ogetelor AIsXEHIE, XEH, 228 2
S 1,000,000& 1,000
= 500
Al 250
- 250
405 XHAHFI S HI 19,150 17,700 1,450
= 9,575
Al 4,788
- 4,787
01 XAt 2 E F S| 19,150 17,700 1,450




2N BEAI Y
Ha: FOEAC2 MHIA MR
el Zetelor oleg 22l (&)
= - = s
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
OXEJI 7Y S 885,000& »10CH 8,850
2 4,425
Al 2,213
- 2,212
OJIOIA 2A1 2 S 1,000, 0003 »3CH 3,000
= 1,500
Al 750
- 750
Ozl 2 7,300
—FUHESHRARAL ST 550,000 »6CH 3,300
= 1,650
Al 825
- 825
- SEE0ER=20I 1,000, 000& *4CH 4,000
= 2,000
Al 1,000
T 1,000
NS ALY 20,000 20,000 0
Al 10,000
- 10,000
101 @l H] 14,282 13,940 342
Al 7,141
- 7,141
04 D12 RZ22TS2=+ 14,282 13,940 342
OgdgEed =0 14,282
— QI 2| 2,856,400 x1H+5& 14,282
Al 7,141
T 7,141
206 M =8l 5,718 6,060 N 342
Al 2,859
- 2,859
01 M=z Hl 5,718 6,060 N 342
OWeE o % oYy 25 7Y
5,718,000& 5,718
Al 2,859
- 2,859
gA A2 361,684 370,112 A8,428
101 @124 8] 18,351 0 18,351
04 DIt 22 XS+ 18,351 0 18,351
OgAR(Es8) =0 18,351
—Jl=2= 1,834,400 x1H «6& 11,007
— 24| 140,0002 * 1% x62 840
—tEH 120,000 12 x6E 720
— 8= 140,000 » 1«6 & 840
— &5t 1,100,640 x1H *13] 1,101
— &2 24l 70,0002 x 12 6 420

_5_




K- B8 S2(3H) - HSAY - B2 o A o SSa H RS2
PN 69,090& x 1Y x5 346
— S5 120,000& x1H »6E 720
—4AEE = 1,757,000& 1,757
— I =dl 150,000& 2 *23| 600
201 LEr2 Y| 26,334 15,934 10,400
01 At 22l Yl 12,640 2,240 10,400
OgtdAXtgd N2 SHE 6,400& x1003] 640
ogdg A28 P2 1,000,000& 1,000
Os Asgdddt 23 234!
1,000,000& 11 = 11,000
02 352494l 13,694 13,694 0
OogA &Y =2l & 224l 8,000,000& 8,000
ORs 2d32 =2 150,000& 150
OG.P.S AlAEI AlEE 5,544,000 5,544
206 M=l 175,000 195,000 A 20,000
01 X2 H| 175,000 195,000 A 20,000
gt orE A 130,000, 000& 130,000
B g2 R (3YR) 10,000,000& 10,000
gag 3 (ER) 35,000,000& 35,000
307 QI2t01 & 141,999 159,178 AN17,179
05 A2t E = 141,999 159,178 AN17,179
SREPH AEEHZA) 31,028,750& 31,029
SHED| ORI E A (AW, EESXH)
89,656,374& 89,657
StED|F2EHA(81X1Y) 21,312,4188 21,313
FHUEHS LE2YHA 2 AR (F=21 20 0l &F) 100,000 100,000 0
101 @124 58,353 53,822 4,531
04 JI2ZtH2Z2XNHEE 58,353 53,822 4,531
BHEUAQI S (F2E 0 A) 58,273
—-JI=23 1,834,400 x2H 10 36,688
=] 140,000& *2H =102 2,800
—JtEs4 120,000& x2H x10& 2,400
— g 140,000& x2H =10 2,800
— 9 ZE =4l 1,100,640& x2H *13] 2,202
— s &22H| 70,000 *»2H 102 1,400
— XS E 69,090& x2H 9 1,244
— S5 120,000& x2H 10 2,400
—401 B8 5,738,585& 5,739
— I =4l 150,000& 2 *23| 600
Ons Wl (21200l AH) 20,000& x2H »2 80
201 et A | 5,380 11,980 A 6,600
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M FOBAHOE AHA M2
CHel: 2eteloF oler 2el (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 5,380 11,980 6,600
OAMRDEFHI(FE A 90,000 x2H 180
OYSWAANY 2Y U S2H|(FUR00L)
5,200,000 5,200
206 M = dl 36,267 34,198 2,069
01 X2 bl 36,267 34,198 2,069
Owege 4E Dol S(FUHCNN)
36,267,000 36,267
2o e 510,878 484,102 26,776
= 216,128
Al 70,543
- 224,207
2Zragoes 2 22| 10,280 52,200 AN41,920
201 LBt Y| 10,280 51,100 N40,820
01 AP 22| d| 5,000 48,460 N43,460
odggaeoe 22 « 294l 5,000,000 5,000
02 2%l 5,280 2,640 2,640
O™ HASUHE MES
80,000& x50 x12& 4,800
OUEHASIIAIE EHSSPCAIE =
40,000& =10~ 12& 480
BAHAZSH2ALAIS 158,072 163, 304 N5,232
= 79,036
Al 39,518
- 39,518
101 @1 21| 107,340 105,840 1,500
= 53,670
Al 26,835
5 26,835
04 JIZtHI22 NS ES 107,340 105,840 1,500
OHl=2ZdHa X 222 21| 107,340
A=) 2,360,0008 *3% x13& 92,040
= 46,020
Al 23,010
- 23,010
— &0 40,000& *3¥ x 128 1,440
= 720
Al 360
- 360
— HAE S| 300,000 x3H x23| 1,800
= 900
Al 450
- 450
—AUHEE 2 BY2(AISX)
4,020,000 x3H 12,060
= 6,030
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L HEELT-
M FOEAYE MHIA MBS
e R (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 7,216
Al 3,608
T 3,608
Ogod =X &l 612,000 612
= 306
Al 153
= 153
OHAMEZS U =AY 2Ny
14,240,000& 14,240
= 7,120
Al 3,560
T 3,560
Og&d Fax XA 2,272,000 2,272
- 1,136
Al 568
= 568
OZAL ZST A ¥ WS
8,276,000 8,276
= 4,138
Al 2,069
T 2,069
OZ#AE U JXNMS AL 1,500,000 1,500
= 750
Al 375
- 375
05 BIZERI & 3 2,000 1,500 500
Ogoa ¥ AXH(ALEEIYX)
2,000,000 2,000
= 1,000
Al 500
- 500
ofZJl2 ZHET 22X 72,298 71,300 998
= 72,298
307 21201 A 72,298 71,300 998
= 72,298
02 UAFAAFEX 72,298 71,300 998
OPIRto| 202 BB A5 A XIR|
36,149,000& »2H 72,298
= 72,298
Olol= & dgHue NAMEES 56,908 55,658 1,250
= 28,454
Al 27,385
- 1,069
202 oddl 240 240 0
= 120
Al 60
- 60
01 = LH o4 1l 240 240 0




2 BHMEDY
HEM: FOLAR AMHIA M2
CHelr 2Egole (s )
2A-F3H-H2A(3) - MY - BES Off &4 %gi Hns2
OnolI=2&el S22 ol
20,0008 x1H 123 240
= 120
Al 60
- 60
307 212+0| & 56,668 55,418 1,250
= 28,334
Al 27,325
= 1,009
01222 Y 56,668 55,418 1,250
OISy 28 L XISXA 1,292,000 1,292
= 646
Al 323
- 323
OOl = &EHAl2 7 2,744,000 2,744
= 1,372
Al 686
- 686
O& X & 24 52,632,000 52,632
= 26,316
Al 26,316
E2AASIHH 4,080 0 4,080
= 2,040
Al 2,040
307 912t0| & 4,080 0 4,080
= 2,040
Al 2,040
02 QIZHHAAIHE X 4,080 0 4,080
OAgY H2AA 92712 29|
340,0002 * 12 4,080
= 2,040
Al 2,040
oY Zod E=LZAMHSY 32,700 32,700 0
= 32,700
307 12+0| & 32,700 32,700 0
= 32,700
02 QIZHHAAIHE X 32,700 32,700 0
Oozzy 2y a2l2dd X
16,350, 0002 *23] 32,700
= 32,700
MESHAESUHSY 18 2 SANAFOHAES R 3,200 5,100 A1,900
FOHXHA)
= 1,600
Al 1,600
405 XHaHF S 3,200 5,100 1,900
= 1,600
Al 1,600




SN BAE Y
Ha: FOEAC2 MHIA MR
el 2oy CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AL 2 ZF S| 3,200 5,100 A 1,900
OMEHYH ==UHERHE WE Y S X (H
IS RIXH) 3,200,000& 3,200
= 1,600
Al 1,600
SEI Y ZelY dx29 A& 5,000 100,000 A 95,000
201 Bt 5,000 10,000 A5,000
01 AP 22| H| 5,000 10,000 A5,000
Os8) dg2elY 294l 5,000,000& 5,000
AEsSZEgogs & 22 168,340 0 168, 340
201 LBt | 116,000 0 116,000
01 AP 22| d| 80,000 0 80,000
OdlsZggae oY =224 & 29|
30,000,000 30,000
OXIHLI X 85 XH 10,000 5,000 50,000
02 E=22g%H| 36,000 0 36,000
Odls2ay 2d o= HII= Ml
3,000,000& x12& 36,000
307 2I2t0| & 50,000 0 50,000
05 QIZtREZ 50,000 0 50,000
Ojs2ZgY g 4 A5 50,000,000 50,000
405 XHA&HF S HI 2,340 0 2,340
01 XAt 2 ZF S HI 2,340 0 2,340
OMZZAY HEXRA NS AXI| 2Y
2,340,000 = 1CH 2,340
PNE=S s | 67,177 99,427 N 32,250
S22 AALY 67,177 99,427 A 32,250
101 e1214| 6,000 6,000 0
04 J|12tHIZ22NEES 6,000 6,000 0
OUH&I 2 AF Q1 24| 500, 0003 *3Y x4 6,000
201 LBt 27 177 29,427 N 2,250
01 AP 22| H| 13,798 16,348 AN 2,550
Ogbt4=24| 13,798
— BHANE A 2E | 100,000& 12& 1,200
SIAFE 2 H A TINE s3 = 66,000& 3H 198
— BIAIE A T =2H| (HAI2 JI2)
50,000& 2 100
— YAl K2 E 2,300,000 42 D| 9,200
— QBT 2242 (MEISEH| 4T)
1,100,000 1,100
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2A: BAMI Y
M =002 MHIA KB
ool RLABHAMYE XA (&)
= _ — d =
SA - BB B (BA) - MM - BHES e HREZ
THEHY 2Y N 63,253 18,787 44,466
101 @14 Hl 7,977 7,911 66
04 JIZHHZ2XNEE S 7,977 7,911 66
OSEHLSTAL JIANI2Z2X 4UEE
325,000& x 18«18 3,575
OSEULESTAY JIZHHMZ2 2 X B EFOHI
1,100,640& » 1 »23] 2,202
OSSAHLSXAIY JI2ZH2Z2X 5
60,0003 x 1«18 660
OSSAHLSTAIY JI2HH2Z2X A
140,000& 1H 118 1,540
201 Let24d] 6,076 4,876 1,200
01 At 22/l 5,376 4,176 1,200
OPYRAM L T2 294
400,000& 123 4,800
OXBE FALE 2XZE 48,0003 123 576
03 &Ar2 I 700 700 0
OFZEdF2 &AL & SEAEHI
1,000& 7004 700
301 LBEAZ 500 500 0
09 HALAHIX A S 500 500 0
OxRZoZ=zd 299 100, 000& 52| 500
307 21201 A 5,500 5,500 0
01 927 24| 5,500 5,500 0
OFLLAY IREE, 42ETY
2,000,000& 2,000
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